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6,000,000& 6,000
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2A:

FH: MPHA Y =4
Pl ESHIO|QAIZARIEIT] 22 (12l M2
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AHEX] HBI|Y P22 HB A 20,000 20,000
401 AIZHIZ SO 20,000 20,000
01 Al&HI 20,000 20,000
O HBI|Y 242 AAAY
20,000,000& 20,000
ZEHIOIQASLEEX HFAELEXN U= et 2,568,986 2,568,986
401 AlZHIZ SO 2,568,986 2,568,986
01 A28l 2,568,986 2,568,986
O HSHOIASAMHEX H=AIEESX 0|
A= &&(2/5%2) 2,568,986,000& 2,568,986
ZSHI0IQAS A XHd ALY 60,000 0 60,000
401 AIZHIZL SO 60,000 60,000
01 Al&H| 60,000 60,000
O &HHEX A AAY
60,000,000& 60,000
s3HX g 24 1,129,640 91,400 1,038,240
= 576,000
S 126,000
o 427,640
s3HAl 2el2g 1,129,640 91,400 1,038,240
= 576,000
= 126,000
Ea 427,640
FEsSHAl 2 110,000 20,000 90,000
401 AIZHIX S0HH 110,000 20,000 90,000
01 AlZH| 110,000 20,000 90,000
O ZEs3HX S3AEE FAAc S
20,000,000& 20,000
O Zg8s3HAl FHIY MY
90,000,000 90,000
HEsSHA SSHXCAE 232 48,660 39,200 9,460
201 Ler23| 42,660 39,200 3,460
01 At2teltl 1,660 1,200 460
O BEszHA ssH==XclAlE R3]
ANAE 2 1,200,000 1,200
O Z8ssHl ssHxeld 2l &2
= qg 460,000 460
2 35244l 41,000 38,000 3,000
O BEsSHA HeXdlAlE 232c
41,000,000& 41,000
401 AlEHIY S CHYI 6,000 6,000
01 A28l 6,000 6,000
O BBSZOA AlA 22/ - +4 HIZ
6,000,000 6,000
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A NS E N

Ha: 53O L 2

=aak Qiém %z%% (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
JESSHA SSH=MlAIE 282 64,980 32,200 32,780
201 er23 | 36,980 32,200 4,780
01 At2teltl 1,980 1,200 780
O Z&szHA ssH=XcAlE fa3Y|
ANAE 23 1,980,000 1,980
02 S3=gHl 35,000 31,000 4,000
O BE=TUX BRHSHINL 29 2
| 35,000,000 35,000
401 Al HIZL S 0HYI 28,000 0 28,000
01 Al&HI 28,000 0 28,000
O ¥Es3HA A8 =2l - =8 HIE
22,000,000 22,000
O &Jl€d| e 2| 6,000,000& 6,000
IdEs3HA 2¢el 10,000 0 10,000
401 AlZHIZ SO 10,000 0 10,000
01 A28l 10,000 0 10,000
O BE=IUX BRAEE |AE S
10,000,000 10,000
20 OS2l ZEAMY 896,000 0 896,000
= 576,000
== 126,000
o 194,000
401 AIEHIZ SR 0HYI 896,000 0 896,000
= 576,000
S 126,000
o 194,000
01 AlZ2H| 873,000 0 873,000
O =1 OtSh23Hel 2EMY S
873,000,000 873,000
= 561,210
= 122,770
o 189,020
02 2/l 20,000 0 20,000
O =01 OS2l 2EAY Zel
20,000,000 20,000
= 12,860
=S 2,810
s 4,330
03 Al 20HHI 3,000 0 3,000
O 24810 OtSU2Hel ZdAr 20l
3,000,000& 3,000
= 1,930
== 420
o 650




2A:

X XH -
o=

XIS
MY SHAH|(XIFZMD)

el JI=2 3 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
HY2LZH(XSZH ) 90,060 108,160 A18,100
Jl=23H| 90,060 108,160 A18,100
Jl=2ZHl/ XS 3 42,660 40,660 2,000
201 fer= 3| 32,560 30,560 2,000
01 At 2t 22,960 20,960 2,000
O ggt=EH| 10,000,000& 10,000
O =gl 4,960,000 4,960
O tlz7s= 8,000,000& 8,000
2 s5=34l 9,600 9,600 0
O s3k= € MM 343
800,000 1204 & 9,600
202 04| 6,000 6,000
01 =LHOHI 6,000 6,000
O XNSZH g2 04|
6,000,000 6.000
203 HR=H] 3,600 3,600
M EAEER=A 3,600 3,600
O BA=2gge=4y|
300,000& * 12043 3,600
405 AtatE = 500 500
01 It =S F = 500 500
O M 212 2378 500,000& 500
23t/ ExelEE 16,000 16,000 0
201 223 10,000 10,000
01 At22t2ltl 9,000 9,000
O «et=Zd| 5,000,000& 5,000
O =t 4,000,000& 4,000
02 S3=gl 1,000 1,000 0
O s8k= € MAslt=s
1,000,000 1,000
202 04| 6,000 6,000
01 =LHOLI 6,000 6,000
O g2=d ol 6,000,000 6,000
JlE2ZHl/E MK 14,000 24,000 10,000
201 er23 | 9,000 14,000 25,000
01 At2teltl 9,000 14,000 /5,000
O dit=ZH| 5,000,000& 5,000
O =gt 8,000 x4 125 4,000
202 04| 5,000 10,000 /5,000
01 2LHA b 5,000 10,000 25,000
O §I1g XY 20|
5,000,000 5,000
JlEZl/ateteelE 17,400 0 17,400

_18_




A XNEE

Xt

M Y RAZHI(XGZHL)
=l Jl=3H| (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
201 er23 | 11,400 11,400
01 At2teltl 9,000 9,000
O dit+=ZH| 5,000,000& 5,000
O =gt 4,000,000 4,000
02 S3=gHl 2,400 0 2,400
O 388= 200,000& * 128 2,400
202 04| 6,000 6,000
01 =LHO LI 6,000 6.000
O dtttate] g2 20|
6,000,000& 6,000
R8s (XSZH D) 280,000 0 280,000
WEHAH RS (XSS ML) 280,000 0 280,000
LHEHH K& (XSS HI) 280,000 0 280,000
701 JIEHRIHSEES 280,000 0 280,000
01 DIl AN ES 280,000 0 280,000
O S 2eltied HIs 50,000,000 50,000
DRHAHIAL 229
200,000,000 200,000
O S3H=X2IAE =222 HAME
30,000,000 30,000
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